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P 100kN/mM%BZ. 5 — - ~ — — |3mEBZB| — ~ — — — | 100kN/mM%E#BZ 5 — - ~ — —|3mZiBZ % - ~ — — —
FhLst 1.00 | 0.00 ~ 527 65.77 | TS | 000 ~ 527| 1.82 922 st 1.00 | 6.00 ~ 5.80 65.77 | NS | 6.00 ~ 580 1.82 922
2 100kN/ Mm% 25 — - ~ — — |3mEBZB| — ~ — — — | 100kN/M%Z#B% % — - ~ — — |3m%E{BZ B - ~ — — —
FhLst 1.00 | 000 ~ 711 90.26 | =nLs | 000 ~ 000\ 1.71 8.64 st 1.00 | 6.00 ~ 9.00 90.26 | =nst | 5,00 ~ 9.00)| 1.71 8.64
3 100kN/m%x#25| 1.00| 000 ~ 0.07| 101.06 |3mZEBZB| — ~ — — — | 100kN/m%x#%25 | 1.00 | 10.79 ~ 11.00| 101.06 |3mE#BZ5 - ~ — — —
FhLst 1.00 | 0.07 ~ 7.86 100.00 | #hsy | 000 ~ 7.86| 2.08 10.62 st 1.00 | 6.00 ~ 10.79 100.00 | #hst | 6,00 ~ 1100|208 10.62
4 100kN/m%#8z5| 1.00 | 000 ~ 0.72| 110.78 |3mZz#Bz3| — ~ — — — | 100kN/m%&#z25% | 1.00 | 1067 ~ 1290 110.78 |3mZE#BZD - ~ — — —
s 1.00 | 072 ~ 851 100.00 | #nst | 000 ~ 851|211 10.65 ThList 1.00 | 6.00 ~ 1067 100.00 | =nst | 6,00 ~ 1290 211 10.65
5 100kN/mM##B25 | 1.00 | 000 ~ 1.41 121.46 |3mZEBRD| — ~ — — — | 100kN/m%#BZ% | 1.00 | 1053 ~ 1515| 121.46 |3m%E#BZ5 - ~ — — —
s 1.00 | 1.41 ~ 9.20 100.00 | =nLst | 0oo ~ 920|238 12.04 ThList 1.00 | 5.00 ~ 1053 100.00 | =nhst | 6.00 ~ 1515 2.38 12.04
P 100kN/m%x 25| 1.00 | 000 ~ 235| 13667 |3mZz#z3| — ~ — — — | 100kN/mM%&#z25% | 1.00 | 1066 ~ 1997 136.67 |3mE#BZD - ~ — — —
FhLst 1.00 | 235 ~ 1013 100.00 | ThLSY | 0.00 ~ 1013 2.46 12.46 FhLst 1.00 | 6.00 ~ 1066| 100.00| FnLS | 6.00 ~ 19.97| 2.46 12.46
. 100kN/m%E#25| 1.00| 000 ~ 1.39| 121.10 |3mZz#BzZB| — ~ — — — | 100kN/m%x#%25 | 1.00 | 1056 ~ 1502 121.10 |3mZE#BZ5 - ~ — — —
FhLst 1.00 | 139 ~ 917 100.00 | =hsy | 000 ~ 9.17| 2.42 12.23 zhLst 1.00 | 6.00 ~ 1056 100.00 | #hsy | 6.00 ~ 1502|242 12.23
P 100kN/m%E#25 | 1.00| 000 ~ 082\ 11228 |3mZz#Bz25| — ~ — — — | 100kN/m%E#%25 | 1.00 | 1054 ~ 1299 11228 |3mE#BZb - ~ — — —
FhLst 1.00 1 082 ~ 861 100.00 | #hst | 000 ~ 861|216 10.93 FhLst 1.00 | 6.00 ~ 1054 100.00 | =hst | 6,00 ~ 1299 216 10.93
9 100kN/mM%#BZ. 5 — - ~ — — |3mEBZB| — ~ — — — | 100kN/mM%E#BZ 5 — - ~ — —|3m%iBZ % - ~ — — —
s 1.00 | 0.00 ~ 712 90.52 | =St | 000 ~ 0.00| 1.75 8.86 ThList 1.00 | 5.00 ~ 897 90.52 | =nLS | 5,00 ~ 897 1.75 8.86
10 100kN/m%x 25| 1.00 | 000 ~ 039 10579 |3mZz#z3| — ~ — — — | 100kN/m%&#z25 | 1.00 | 10.79 ~ 11.97| 10579 |3mE#BZD - ~ — — —
s 1.00 | 039 ~ 818 100.00 | #nLst | 0oo ~ 818|208 10.62 ThList 1.00 | 5.00 ~ 10.79 100.00 | =nst | 6.00 ~ 1197 2.08 10.52
11 100kN/mM#E#B25 | 1.00 | 000 ~ 051 107.60 |3mZEBZD| — ~ — — — | 100kN/mM%&#z25 | 1.00 | 10.75 ~ 1230 10760 |3mE#BZD - ~ — — —
Thilst 1001051 ~ 830 100.00 | Fnbst | 000 ~ 830\ 2.09 10.66 Thilst 100 500 ~ 1075 100.00 | Tnbst | .00 ~ 1230| 2.09 10.56
19 100kN/m%E#25| 1.00| 000 ~ 1.30| 11968 |3mZz#BzZ5| — ~ — — — | 100kN/m%E#%25 | 1.00 | 1066 ~ 1474 119.68 |3mE#BZD - ~ — — —
zhs 1.00 | 1.30 ~ 9.08| 100.00 | Ths |o0o0o ~ 908|227 11.48 zhs 1.00 | .00 ~ 1066 100.00| ZNnLS | 5,00 ~ 14.74| 2.27 11.48
13 100kN/ Mm% 25 — - ~ — — |3mEBZB| — ~ — — — | 100kN/M%Z#B% % — - ~ — — |3mE{BZ B - ~ — — —
FhLst 1.00 | 0.00 ~ 687 87.01 | #nhs | 0oo ~ 000|171 8.63 ThLst 1.00 | 6.00 ~ 850 87.01 | #hs | 6,00 ~ 860 1.71 8.63
14 100kN/mM%#BZ. 5 — - ~ — — |3mEBZB| — ~ — — — | 100kN/mM%E#BZ 5 — - ~ — —|3m%iBZ % - ~ — — —
s 1.00 | 0.00 ~ 477 59.50 | =St | 000 ~ 000\ 1.71 8.66 ThList 1.00 | 6.00 ~ 56.00 59.50 | =nS | 6.00 ~ 500 1.71 8.66
100kN/mM%#BZ. 5 ~ ImERBAD ~ 100kN/mM##8 %% ~ ImEBZD ~
zhLst ~ LSt ~ zhLst ~ zhLst ~
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